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Section A (15 x 2 marks = 30 marks) :
For each quesfion from 1 to 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the cotrect oval (1 2,
3 or 4) on the Optxcal Answer Sheet provided.

1. | The diagram below repfesents the water cycle.

rocess Y
Process X water vapour
water bodies - clouds
- rain
Process Z

Based on the diagram, which of the statements are incorrect?

A Process X takes:place only durng the daytime.
B Heat is lost by the water vapour during process Y.
C There is a charige in-sfate in water during processes X, Y and Z-

() AandBonly ) A andC only
(3) BandC only (4) ABandC

2. Nicole examined the celis from the root and stem of a cactus plant.

Which of the following would she find present in both kinds of celis?

A cell wall

B nucleus

C chloroplast

D cell membrane

(1) A,BandConly . (2) A,BandD only
(3) B, CandD only 4 ABCandD




The diagram below shows a plant cell.

Which part(s) keeps/keep it firm and maintains/maintain its shape?

(1) A only ' ) B only
(3} A and B only (4) B and C only

The graph bei.ow shows the relationship between the number of seeds
of plant P-and Q dispersed and the strength of the wind.

Plant P

Plant Q

No. of seeds d}speri

Strength: of wind

Which ane of the following statements can be concluded based on the
graph above? . -

(1) The seeds of plant P are dispersed further than the seeds of
plant Q. -
(2)  The stronger the wind, the faster the seeds of plant P are
dispersed.
'(3)  Thedispersat of the seeds of plant Q does not depend on the
strength of the wind, -
(4)  The seeds of plant Q are able to glide in the air for a longer fime
than the seeds of plant P, )



Four different types of plants, A, B, C and D were planted as indicated
in the diagrami below. The arrow mdlcates the direction of flow of the

river.

A few years later, the same area was studied and the locations of the 4
different plants were identified and indicated in the diagram below.

According to the dispersal pattern shown above, which of the following
options carrectly identifies plants A, B, C and D?
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Study the information given below and answer questions 6 and 7.

Rahida set up an experiment in a. dark room with some water and
seme_Elodea (a totally submerged plant) in a beaker as shown in the
diagram. Water eniiched with carbon dioxide was used in this

- . experiment. A light source was placed 50cm away from the beaker.
After a short while, she counted the number of bubbles produced by
the efodea in one minute. : .

water
enriched
with
carbon
dioxide

0

torchlight
I —

Then she repeated the experiment by decreasing the distance between
the light source and the beaker and. counted. the number of bubbles
produced again. Rafiida recorded the results in the table shown below.

Distance of light source from the . | Number of bubbles produced
beaker (cm) in 1 minute

50 3

40 8

30 13

20 ' Co 17
6. Which one_of the following conclusion can Rahida draw from the
results above? '

(1) The rate of photosynthesis is higher in blue light than in green
light.

2 The higher the intensity of light, the higher the rate of
photosynthesis. - .

(3)  Thelight source must be 20cm away from the Elodea plant so
that it can phofosynthesize at the highest rate.

4) The nearer the light source to the Elodea plant, the more the
plant will respire and photosynthesize to produce more
bubbles of oxygen and carbon dioxide.



‘Which of the following variables shouid be kept the same for the
experiment{o be a fair test?
A Type of iight source °
B - Amount of Elodea plant o
C Distance between light sotirce and beaker
() AandB only (2) AandConly
(3) B and C only {4) A,Band C

An expe‘riment was carried out to show how the light intensity, amount
of catbon dioxide and temperature affects the rate of photosynthesis.
The resuits of the experiment were plotted in a graph as shown below.

0.13% carbon dioxide at 30°C

0.13% carhon dioxide at 20°C

) carhon dioxide at 30°C
0.03% cartron dioxide at 20°C

rate of ppotosynt\h_ula

o light intensity

Based on the graph, which one of the following statements about the
effects of these extemal factors on the rate of photosynthesis is

incorrect? :

1 Rate of phofosynthesis increases with increasing fight intensity.

(2) Temperature will be a factar affecting the rate of photosynthesis in
a carbon dioexide enriched environment.

3) At the same temperature, the rate of photosynthesis is greatly
affected by the amount of carbon dioxide given.

(4) The rate of photosynthesis is more affected by the increase in

temperature in the natural environment than a carbon dioxide
enriched environment:

Which of the following statements are correct?

TOw>»

(0

Only plants with green leaves can photosynthesize -

Gaseous exchange takes place through the stomata.

‘Oxygen is not needed in the process of photosynthesis

Water that the leaves need for photosynthesis is taken in through
the stomata.

A and C only (2) A and D only
B and C only : (4) C and D only




10.  Study the concept map below.

Organisms P, Q and R are found in thg garden.

takenin

provides
light
energy to

B is a source of

energy for o
AW

is a source of
energy for

What do the lelters A, B and C represent in the concept map?

A B C
(1) oxygen food carboen dioxide
) energy carbon dioxide water
- (3) food : oxygen carbon dioxide

(4) oxygen water food

11.  Which of the following statements about food made during
photosynthesis are correct?

A Food made in the leaves is transported to all parts of the plants.

B Food made by plants can be stored as starch, sugar or ail in the:
. plant .
C - Excess food that plants made can be stored in different paris of
the plant. '
D - Plants make use of the food that they made for respiration fo

release energy.

(1) Aand D only 2) B and C only
(3} A, B and C only 4) A, B, CandD



12.

13.

"Which of the following statements are incorrect ?

A Roots are all inedible.

B Roaots take in only water from the soil. '

C Roats help to hold a plaat firmly to the ground.

D Root hairs increase the surface area of roots to help in absorption
of water from the soil

(1) A and B only (2) B and C only

(3) A, B and D only (4) B, C and D only

The diagrams below show the orginal and final position of 3 identical
balls, P, Q and R. Keith pushed Balt € in the direction as indicated by
the armrow. After it had been pushed, the final position of the 3 balls is
as shown in the diagram below.

4 N ™
® ®

-
o8 N
\_ / \_ J

Original position . Final position

Keith observed the results and made the following statements:

A Balls P, Q and R stopped moving be;cause of grav’i’ty.

B Balt P moved forward a certain distance and hit ball Q and R.

C Ba.ll P- imoved because the push force was greater than the
frictional force. :

Which of the statements that he méde are comrect?

(1) Aonly : (2) AandConly
(3) B and C only (49) A BandC only




- 14, An experiment was set up to find out how the mass of the weights
affects the extension of an elastic band.

Ruter ‘ - . s -
: Gem ceiling -
Zom 4 ' . |
dem - ’ :
elastic
bomp----- 18q band
Beead ... 27.9
Qe - ..
T20M e oo oo 1
159

Which of the foldwing statements are correct about this set-up?

A The elastic band is exerting an upward force.

B The weights.exert a downward force on the elastic band.

C When a mass of 36g is hung on the elastic band, the total
extension of the elastic band is 10cm.

(1}  AandBonly (2) B and C only
(3) Aand Conly 4y A,B,andC

15.  In the diagram below, the man is.moving a crate over a cément floor in
the direction as indicated by the arrow. i

crate

—

cement floor

What can he do to move the crate using less force?

(1)  Piace the crate on wheels.

{2)  Apply a layer of oil to his hands. -

(3)  Direct his push to the bottom of the crate.

(4}  Move to the front of the crate to pull it instead.



17.
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Four bars, K, L, M and N, were suspended from a ceiling next to one
-another. The bars were observed to swing towards or away from each

other as shown below.

ceiling

\ //' \
Bar K BarL Bar M Bar N

The bars were either made of lodestone or non-magnetised metals.
Based on the observation made above, which one of the foflowing
shows the most likely materials that bars K, L, M and-N are made of?

(0
(2)
)
(4)

Study the following statements about gravity.

F)_
Q
R

Bar K Bar L. Barm ™ Bar N
aluminium lodestone lodestone cobalt

cobalt iron lodestone copper
aluminium lodestone nickel lodestone

copper steel lodestone  lodestone

Gravity causes objects to have mass.
Gravity is a force that can be a push or a puif:
Gravity acting on any object on Earth is the same.

Which of the statement(s) isfareé correct?

(1)
(3)

Q only

P and Q only

10

(2) Ronly

(4) P and R only




1_8-- Elliot made a circuit card with 6 fasteners, A, B, C, D, E and F which. -
were connected on the understde He connecied a circuit testerto 2 of -
the fasteners at a time and placed a tick whenever ithe bulb lrght_ed up.

Djoe .| A

E] e «{B

| = sicC

- F
Circuit card
B
. . A
He obtained the following results. Co
E
Fasteners A B C D E F

A v i v
B ¥ v
C v v
D
E y VAN
£ -

Based on his results, which one of the following connections is not

possible?
AY

(1} Do A (2) Do IA
£ 8 £ Q-——0G B
fao C F :\3 C

3 4

( ) Do A ( ) Do A
€ B E B

s



19.  Study the circuit d_iagr_ém shown_below.

r‘_,,h__(g}p._.m e d .
V® \

4
‘._i—_._. it " ¥ L am—
. \'\

-

What s the least number of switches that must be closed for all the
-bulbs to light up? )

{13 1 switch only

{(2) 2 switches only
(33 3 switches only
{4) 4 switches only

20.  Three electrical circuit diagrams are shown befow. The batteries and
buibs used in these circuits are identical.
11—

I;{IE —__MH]_._
E— ——&) &

A B C

Wiich one of the following shows the correct arrangement of the
circuits from the brightest to the dimmest bulb,

(1} A.B.C
) B8.AC
(3 B.C.A
4) c.aAB

21. Which one of the following groups consists only of sources of energy?

(0 sun, waves, wind

(2) fuel, air, waterfali

3) wood, water, wind

(4) coal, magnet, natural gas




22.

23.

Jay and Rosna were playing on a see-saw.

Rosna

Positton 1

Position 2

Which one of the following staements about Jay and Rosna is

incorrect? :

{1) When they stopped in position 1, Jay did not possess any kinetic
energy. . T

(2) Jay, who is heavier, possessed mare energy than Rosna when
the see-saw is at position 2.

3) Both Jay and Rosna possessed no energy once the see-saw was
balanced as seen in position 2.

4) When they stopped in position 1, Rosna possessed moge

gravitationai potential energy than kinetic energy.

The energy conversion shown below takes place when a microwave
oven is used. .

electrical energy ——heat energy + kinetic energy + sound energy

Only the heat energy and the kinetic energy are useful in the cooking of
the food in the microwave oven.

Which one of the following would show the same energy conversion as
the microwave oven?

M
(2)
(3)
4

Radio

Hairdryer
Electric iron
Vacuum cleaner

13
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24. - Raymond classified the following underiined objects into 3 groups, A, B
and C equally, according fo the energy they possess.

A spinning top .

A moving windmill : -
A piece of charcoal ‘ -

A wound-up toy car '

A compressed spring

A plate of vegetables

Which one of the following could possibly represent the headings for
groups A, B and C correctly?

Group A Group B Group C
M| Eastic Potential | Chemical Potential Gravitational

Energy Energy Potential Energy

@ Heat Energy Kinetic Energy Electrical Energy

() Kinetic Energy | Chemical Potential Elastic Potential
Energy Eneqgy

4 Kinetic Energy Electrical Energy Elastic.Potential
Energy




25, Four bails, E, F, G and H, of the same size, mass and material were
hung from a pole with strings, at different héight above a sand pit, as
- shown in the diagram. T -

T — , ol

_ _-sand pit

“Based on the setup_aove, which of the following statements are

correct?

A The same amount of gravity was acting on all the balls.

B Ball G passessed the most amount of gravitational potential
SUirgy.

C BAlIE would create a smaller dent in the sand pit than ball H when
the:strings. were cut. '

D All-the balls possessed the same amount of gravitational potential
engrgy since they had the same mass.

E Ball F would drop the slowest when the string was cut as it

passessed the least amount of gravitational potential energy.

{1} A and B only (2} A and D only
(3) A, C and E only 4) B, C and E only
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{Uifferent motals axpand ai difterent tates whaen heated To mske an

-

- __.i—--metal 1

netal 2

object. 2 different metal rings are fitied tightly tegether.as shovn pzlow

pMetal A

Metal B

Metai C

Metal O

When the four objects were fieated ovenly in a beaker of bailing water

for 5 minutes, it was abserved that the iriner fin

from the outer rings.

gs always dropped off

Aanga ihe ‘our msials starting from he one which 2xpands tha mast

2 the une which axpands the lzast when heated.

mress ek Expand the feast

{1} B
(2) B
@ D
4 D

@O

p- = w R
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B

Minye magnetised a metal md. Y, using a strong magnet, She then put

- the magnetised rod Y close to a pite of pins and il atracted 17 pins

She waitdd triepeal e expedment. Howaver, Minyt dropped 10d Y
three times. : i

Mirmyn then oul rod Y close ta the pile of pins again, Which of the
following are possible observations she could get? -

I Rod Y could atfract less pins
B Rod Y could attract more pins.
& Rod Y could not aliract any pins.

D Rod Y could attract the same number of pins,
(1 Aand C only (2) Band Donly
{3) Aand Donly” (4) A, C and D only

Claire heated a beaker of ice and plotted a graph showing its
temperatura change over a period of time.

120}

100 -
') - D
€ gof
" [

2 %9

¥ 40

@

g 20

2 e
.20
40

Time (min)

Based on the graph above, vihich one of the following stalements is
corract?

{1}  Theice lost heat al AB.

{2}  Alpoint A, ail the ice had meited.

{3)  Atpaint C, the water stops gaining hea.

(4)  The lastesi rate of evaporation is laking placeat CO. -




29.  Piwi Qing filled 4 identical insulated cups with watsr at diffarent

" temperatures and covered them as showsn below. She inserted the-

ends of a metal rod into cups A and. B and.inserted the ends df s plastic

rod into cups C. and D She placed Set-ups X and Y at room
temperature, : :

plas ¢ rod

metal rod

thormomoter thermometer thermometer

thermotnotor

Cup A Cup B Cup C CupD
86°C 20°C §6°C W

Set-up X . SetupY
After 10 minudes, she recorded the temperature of the watar in each of

the cups. Which one of the following shows the correct arrangement of
the cups from the hoftest to the coldest?

"Hdttes..t, : ' ) - -qudes; ]
{13 - A ‘_E C - 8 D )
(2] ‘!.- o A_ n -C: i [: m B R
" .. __d;:: - ‘m.,__-g IS - : —
SN I NS R



An expenment was canductend tnotad sl hove et HGRE aould toss
through four different matenals WX Y ano 2 usng a datalogger wath
alght sensor. »

Amount of light {lux) _
detected by light sensor -

i[ .
1000~1~
soo

8001

4001~
2001 - |

i w X v oz Materlals
Based on the graph above, which one of the following stalemeats s
truo? '

(1) Matenal Y is transpacent.

(2)  Materal Z aliows less light to pass through ot than tdateriat W.

(3) When Material X and Malerial Z are placed together, only §00tux
of light can pass through them,

(4} The total amount of fight that can pass iwough Matleral W
and Material X when they are placed tegether s 1300tux .

£nd of Baoklet A—-.
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Section B (40 marks)
Wiile your answers to quastions 31 to 44 in ihe

31

-

spaces provided.

Tim prepared the following set-ups by placing seme soya bean seeds
into four similar boltles.

RN RN
a -’ , wat coitan viool dry cottan wool
i ’,-,/
RN Rt seeds TR D Q|
Bottle A Bottle B
(placed in the classroom) {placed in the classroom)
~ \‘h—-f
PR o'

wet colton vwoot

boiled cooled watar G | D Q

Botile D
(piaced in the clasgroom) {placed in the cupboard)

(@)  State ihe aim of Tim's experiment based on the set-ups ahove.
© L im)

{b)  In which of the botlle{s) would the seeds grov into seedlings?
Explain your aaswer. f2m}
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32 Faith poured starch solution mo a special ransparent ubing and tefi &
in a beaker of ioding solution as shown in the setl-up below AL the
beginning of the experiment, the solution in the tubing was colourless.,

transparent tubling

yeltowigh brown _ |
lodine solution

beaker __§ colourtess slarch solution

After 30 minutes, she removed the tubing from the beaker and
LObserved that the starch solution Inside had turned blue-black

niuo-black starch solution

< trangparaent tublng

(a)  Explain how the starch solution in the tublng turned blue-black.
[t

{b} State the part of a cell that has & simtar function (¢ the spacial
tubing that was used in this experiment, {tm]

e




33.  Kim Seng rtarded oul an experiment using some water snails ang
hydrilfa plants. Water with thé same amount of dissoived carbon
dioxide was used to set up the experiment as shown in the diagcam
helow. A stopper was placed at the opening of each teg! tuhe

Setup A and setup B were left in the sun for 2 hours whilo setup C and
setup £} were placed in @ black box for the sume duration of time

black box

7

b

Al the el of the experiment, Kim Seng measured the” amount of
carhon digxide in each selup again.

(8} Kim Seng found that there was more sarbon dioxide in setup A
than setup B. Explain clearty why there was a difference in lhe
ameunt of carbon dioxide in both setups. [2m]




(b} Arf‘arigi: the setups v order, starting wath the goe wtn the highest
amaunt. of carbon dioxide at at the end of the exporment by filling i

the boxes w;th A B CandD. 1im}
highest amount of T lowest amount of
carhon dioxide T 7% carbon dioxide

A |

(¢} Explain why a stopper must be used (0 cover zach st whe, {1m)

34.  You plan {o conduct an experiment (o show that oxygen Is released
from green plants during photosynthesls. You are given only the
maaterigls listed in the table below.

Methylene blue solution
- tumg bilue in the presence of excess oxygen
fest-tubes

nubber stoppers
shaets of aluminium foil
| Hydrilla plaﬂts )

Using the materials given, complate the drawing below to-show the .

expariment you would set up. You need o set up three controls for
your expasiment. Cantrol 3 has already been drawn for you. All lems
and contents should be labelied clearjy. {3m}

Expermerit Contral 1 Control 2 Cantrol 3

———e
[

N/ N /N . _. stoppes

. tast-tube

aluminiurm

/ foil

Methylene
blue
solution

S el




35 In an experiment, Wei Xun hung fouy identicas magnets, -Vag, XY ond /7,
a certain distance above a container of pins as showfi below. He aims

to find out how the distance between the rmagnet and. the pins affec:
the number of pins attcacied by the magneét.

- e . | T R

He repeated his expariment three times and recorded his results in the
table below.

T T ‘ Number o'; ;ns. a.itracted
Magnet 1;‘:}; 2‘“‘ bry _ 3"";&- |
- S — ——
X N | 4 14
-z | 10 : 10 B

(@) State the conclusion that Wei Xun could make basad his results.
[1tn]

(b}  List bwo variables that he should keep the same lo ensure that

he'is Carying out & fair fest i2em]
]
(i



TR A e DT O T Lot et

6

Mrs Sigh noticed that ber ang shipped ravary from her tager wher Ste
washed her ands Howewes, s did o happon when hor handsas
dry.

(&) Name the force that iz yselu! n Keening the ring an ber finger

[1m]

In sporls, gymnasts are absenved 1o Gust i handgs with chatlk (o
d#bsorb the moisture hefore patforming nn the bars.

' {b) Explgih how applying chalk on then bands will Help them? 1 im}

In another sport, bobsledding requires teams of four people to steer
their sled through narrow, iced tracks to reach the finishing line in the
shortesl possible time. The steds have blades instead of wheets.

A

{CKi}) What s the relatinnship between the amount of torce mentioned
i (a) and the speed of the sked” f1a}

(i) Suggest a chaage Wat can be done (0 morease the speed of the
sled {1}




37 I'he diagram below shows 4 functioning bulbs, A, B. C and Dina

zircuit that i connected cortectly. Objects X, Y and Z are solids made
oi differeni materials .

ALY
[ Y
A
B Ovject X
i i A
Box of : o— 3
batteries ' , ke E
' Object Y ﬁ Qbject Z
N (S - e
Y
0

When alf these objects are used to close the circuit, onty bulbs A, C
and D it up. :

The position of abjects X, Y and Z is then rearranged as shown below,

Box of
bafteries

Based on the new amangement of abjects X. Y and 2. put a tick {¥) in
the box below to indicate which bulb would ght up and which bulb
veould not. {2m]

Bulb Lit Up Bid not light up

W R T N v I




[}

o

T T y

Using lines to ropresent wires, conriect alf the batteriss and the bulbs

such that the bulbs in circuil A are brighter than the bulbs in circuit B.
_ (2]

{a) (i) Circuit A

s

S

o

(li} Circuit B

(b)  State an advantage of using 2 circuit where the bulbs are
arranged in patalfel. {1




39, Houses in temperate COtfn-tries have to withstand the low temperatures
during the winler season. Msany of them use & double glass window
with air rapped in the gap for their window panes.

= double giass with a
gap in belween

Explain how the double glass window with a_gap in between helps to
¥eep the house warmer. , _ [2m]

40.  Mr. Koh was driving a car along a winding road. A truck was travelling
in the oppaosite direction as shawn below. .

(8 Wirile thelsitner ‘M on the keb in the diagram above te indicate
two poaitians to mstall mirrors so that Mr Keoh can see the truck.
(]
(b}  State the property of light that enables the mirror to function as
needed above. ) tim)




atn

kg gdvanlage of e Anory B e g ame aantk SEHAC el
weds Selup i a theme park. When playing ine game. ;)iay{_ﬂ stcdda
i pul the "Red Angry 8ird” on the elasuc band of the catapuk, pull o,
wzlzase the cataguit and lawnch the “Red Angry Bird® ai the targe!

elasties bhand

Rmﬁ Angr!,r B:rd '

{8} State the energy Conversion from 1l point when the “Angry Bird'
was placed on lhe stretchad calapull 10 the poinl when i hit the

target {2 .
——— +
stretehed elastic barndg "Red Avdiy Hied  fiying in the aw
&

e Angrﬂ Birs” bt the sarasl

Kiao 7 glaved e game but he taunchedHhe Rt Angry B 100 tar
aad mugsed e tErge:

{h] Using the same “Raod Angry Bud™ sugaest what he could do if he
wanied Lo it the farget i the nec bey e




(c} Explain your suggestion in (b) in tefms of energy conversion.
: {1m]

42 The diagram shows a mallet pivoted at one end which enables it 10
swing freely. A tenais ball was placed just touching the mallet so when
the mallet was pulled back and relesead, it would hit the ball,
Angle X represents the angle that the 1_1‘.1131 let was pulled bak and

released. —
(@)  Deaw 3 Jine graph in the space below to show how angle X
would affect the distance moved by the balkl. One of the axas
has already been iabelied for you. Write the correct label for {i}
in the box provided. f2m)
{i) P

..... e e

angle X (%)

I



v

() AMhat would you observe if a heavier ball was used.  [1m]

43.  The diagram below shows a hydro-alectric plant,

 Sluice Qateﬁ . w -
3 '.‘ ’ SR e nr

—— i mn mar .

‘Esaary Floss

Figure 4 Ebb generating systom with 2 bulb turbine
(Adapted from Energy Authority of NSW Tidal Power Fact Sheet)

(a) State the energy conversion from the sunaing water 10 the
eleciisity produced. {1m]

_

L

ek ca A e T T r———— . 1R

water in basgin , turbine
j_r
i o ]
i !
Generator

(b} What is the advaatage of a hydroglecine power slation over a
windmill power station? {1m]




44.  The drawing below shows a model foy car,

Top view ’ Side vigw
& soiar pandd e o
1 q "'"f“:-“a.‘_‘\

Image trom 2P % New Sauth Wwetes Papor

(@) State the energy saurce of the modef toy car [1m|

(bj(i) Weite down a modification to be made to the medel toy cay so
that it could move faster, [1m}

(i} Expiain how the modification you made in (i) could help the
model car to move faster. ' [1m]

--~--End of Booklet B-----
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31)a)To find out which are the conditions, water, oxygen and light needed for
germination of seeds to occur.

b)A and D. They have oxygen, water and warmth which are required for
seed germination.

32)a)The yellow brown iodine solution passed through the transparent tubing
and starch solfution reacts with iodine turning it blue-black.
b)Cell membrane. ~

33)a)In A, the water snails respire to take in oxygen and give out carbon
dioxide. In B, the hydrilla plant photoeynthesise in the presence of light,
taking in carbon dioxide and giving out oxygen. Rate of photosynthesis of the
higher than the rate of respiration.
b)J)CADB
. C)Itis to ensure that the atmospheric air does not dissolve in the water of
each test tube hence affecting the amount of carbon dioxide recorded.
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35)a)The shorter the distance between the magnet and container of pins, the
greater the number of pins attracted by the magnet.
h)i)Size of the pins.
ii)Material of pins.

36)a)Frictional force.
b)The higher the frictional force between the gymnast’s hands and the bar,
so they will not slip off easily. :
c)i)The higher the frictional force between the sled and the snow, the lower
the speéed of the sled.
il)Reduce the mass of the sled.

37) — - -
Bulb Litup Did not light up
A J
B v
C X
D X
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b)When one buib fuses, the other bulbs still light up.

39)There is air trapped in the gap.

Air is a poor conductor of heat so heat in the
house will not be lost to the surro

undings easily.
N

40)a)

b)Light travels in a straight line.

"41)a)Elastic potential energy->Ki
b)Pull the elastic band less.
C)When the elastic is pulled less,

to convert to less kinetic energy to

netic energy + Gravitational potential energy

there will be less elastic potential energy
move a shorter distance to hit the target.
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42)a)) ‘Dis_f:a'ncne" moved
by ball {cm)

&

4

b)The heavier ball will move a shorter distance . ' -

43)a)Kinetic energy-> Kinetic energy

Electrical energy

b)Wind is not as readily available in a windmill power station as the water
in a hydroelectric power station.

44)a-)Sun.
b)i)Increase the size of the solar panel.

ii)The larger the solar panel, there will be move light energy to convert to
more electrical energy to move the toy car faster.
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